F26ELEFEFRINFEEREAES REHER

WEFREHMRR OB
Mz | a—F No. R R K4 BB WEA | B
1 3 10 ERAEEE SRR ES BB noE a8k 262.0 | 1575
2 3 1 tBEERFeEFR & IR FRES 5k 261.5 156.0
3 3 12 I EFFR =0 Bl B 5%k 259.0 | 155.0
4 3 9 Ml AE A HEw a1 250.0 | 154.0
5 3 11| BRI EE SR g2l 3 —K 5%k 2580 | 1535
6 3 14 RERFIZLRICEFER RBR BIL B 5% 258.0 153.5




F6MESFFROMFELRRIAS REHER

B FHREEMER O
[[=Eiva a—+h No. FriE #HBEFER K% EFE wER | BT
1 4 10 FXERZFSEFR KBR BH —3 5% 2585 | 155.5
2 4 4 IR UR 77— - 5EF iz (NS 5% 258.5 | 155.0
3 4 7 IBEERFSEFEFR Juima B0 ¥ 5#k 2585 | 1545
4 4 3 HEEBYAHESEFR HE BH &5 5#k 258.0 | 1545
5 4 14 KIRAFILRIESFFR KBR B O 5#k 258.0 | 1535
6 4 13 L—TFLFREEFR N HO =%k 51k 257.0 | 155.0




E26ELEFEFRINFEEREAE REHER
WEFREMRR O

JER | a—* No. & TR K4 BB | mAS | iR
BHEERR Fi T ORE 4%

1 1 4 262.5 157.5
BHEERR Fi Frx TLIYZ T MR
BHEERR T AT 5 a1k

2 1 7 261.5 156.5
BHEERR T BE 7 a1k
RBEFEBETR = £ —H a1k

3 1 2 261.0 156.5
RBEFEEEFH = G a1k
EFEEEH FE S8 &K a1k

4 1 12 261.0 156.0
EFEEEH FE P SIT 2 a1k
B R R BRI e T HE a1k

5 1 15 259.5 154.5
B R R BRI e IS a1k
BRI M T EBEER el ANE st 5%k

6 1 3 259.0 154.5
BRI M T EBEER Bl L R 5%k




E26ELEFEFRINFEEREAE REHER
WL P REMRR O

Mz | a-—F No. & TR K4 HE | WAR | A
EFEEEH FE B % 41k

1 2 2 261.0 155.5
EFEEEH Fi RE 41k
ILEEERBEEER Tz el HAE 5%k

2 2 5 260.5 156.0
ILEEERBEEER Tz WT 9% 5%k
IR T B B % P AL a0 % a1k

3 2 11 258.5 154.5
IR T B B % P AL HE % 4%
IR T B B % P AL HAR ER a1k

4 2 3 258.5 154.0
MR I BBEFH AL EE Oh3 a1k
5 ERIMAEREEFH CES fek w a1k

5 2 4 257.0 152.5
5 ERIMAEREEFH CES BE K 4%
ERAEEE SRR E CEE a1k

6 2 1 256.5 152.5
ERARIEEEEFER E e xm a8k




E26ELEFEFRINFEEREAE REHER

WEFEBEEER OB
Mz | a-—F No. & TR K4 HE | WAR | A
1 3 4 A AR EEEER EA0 FAEE THAT mex 260.5 | 156.0
2 3 5 MRLRIHESEFAR Il Mg B =K 260.0 156.0
3 3 2 V=T LR ek O AR =& 260.0 | 1545
4 3 15 SPELBEER = GRS mex 258.5 | 155.0
5 3 10 BAEESEER BE ED A mex 258.5 | 1545
6 3 13 | KREEAFHESEFR PN ME %E mex 258.5 | 154.0




F6MESFFROMFELRRIAS REHER

L FERBEMEROE
gz S= [p No. g HEHT R K& L am | &iis
1 4 5 AREERFHESEFFR KBR BE HRE R 261.5 | 157.0
2 4 1 HXZERXTEHFAR KBR PR BR -z 260.5 | 156.5
3 4 14 EE LIRS = AR tiza KT EM -z 259.5 | 156.5
4 4 6 MRLRIBASEFRR Il A K -z 259.5 | 156.0
5 4 8 tBEERFEEFR tiza WA HoDY -z 259.5 | 155.5
6 4 13 ABREESEPR =1 Zih B -z 259.5 | 154.5




F6MESFFROMFELRRIAS REHER

NS FERBRR O

gz 3= No. g HEHT R K& L Ras | FifTx
—RBEPF - 5FFR b 1TV TF EB =4

1 1 9 266.5 159.0
—REPZE - BFER b ZH FE =&
REBE—SFFR & Prifkan  ZRME =&

2 1 6 263.5 157.5
REBE—SFFR &) 1S WE -z
RREERFHESEFFR KBR ta EE -z

3 1 4 262.5 156.0
RREERFHESEFFR KBR EOES -z
HIBEFPR = A mE =&

4 1 2 260.0 155.5
HIBEFPR = EBE BEK -z
EBRURESFAR =8 IR B =&

5 1 7 259.5 154.5
EBRURESFAR (- N BURAR R
BEHREPR B 20 ®WE -z

6 1 16 259.0 154.0
BEHeEER B [EPER e R




F6MESFFROMFELRRIAS REHER

L FERBRR O

gz J—k No. g HEHT R K& L Ras | FifTx
BMBERR TE R R =&

1 2 11 264.0 157.5
BMBERR TE S22 R
EERITEEEFFR tiza B D =4

2 2 9 262.0 156.0
EERITEEEFFR tiza HE =% -z
BB ERR TE Ay TLIYVETS R

3 2 12 262.0 155.5
BB ERR TE TR B -z
RREERFHESEFFR KBR A A R

4 2 1 262.0 154.5
RREERFHESEFFR KBR A RN R
RERBILERRFAR S G il R

5 2 5 261.5 156.0
RERBILERRFAR S 28 XY R
RRAFILRIEEFFR KBR HE A R

6 2 3 261.5 155.0
RERFILRIEBFFR PN Eerr ETWE R




F6MESFFROMFELRRIAS REHER
BB FEFEER O
(=83 3= [r No. g HEHT R K& L REm | BT
MRLRIHESEFAR Il T SEIR R
MRLRIHESEFAR Il NIE - BE =&
MRLRIHESFPAR Il T8 KA =&
. . ; MRLRIHESFPAR Il £k P;m R 2650 | 1585
MRLRIHESFPAR Il B A -z
MRLRIHESFPAR Il FE A& R
MRLRIHESFPAR Il HHE EtE 4%
MRLRIHESFPAR Il B RK 4%
RREERFHESEFFR KBR iy &5 =&
RREERFHESEFFR KBR KA =&
ABREERFHESEFFR KBR ks mE -z
) . 5 RBREERFHESEFFR KBR AR BErE -z 2610 | 1580
RBREERFHESEFFR KBR A RE R
RBREERFHESEFFR KBR B OES -z
RBREERFHESEFFR KBR BEER K R
RBREERFHEESEFFR KBR ~A R
HACFE R BR XE ==
HACFE S HE (o -z
HACFE S WA sk ==
, . > HACFE £ B RN =& 2630 | 1570
HACFE £ wH EE =&
HACFE £ R GE -z
HAFE £ ETIT ST -z
HAFE £ fER E{C R
NBREEFFR BE B’E RE =&
NBREEFFR BE BH A% R
NBREEFFR BE Re EY e
4 1 3 NBRSEFR GES ¥ K— R 2625 | 157.0
NBREEFEFR S E BR K e
NBREEFEFR BE Rl HEE -y
NBREEFEFR 5 E ES N 4k
EBRIRESEFFR =8 BE BA 1=
EBRIRESEFFR =8 IH B 1=
EBRIRESEFFR =8 EN BUE AR R
; . A EBRIRESEFFR =8 % =X R 2620 | 1565
EBRIRESEPR =8 #wAR R 4Rk
EBRIRESEPR =8 BRI TRER 4Rk
EBRIRESEPR =8 KL B I
EBRIRESEPR =8 ZH R 4Rk
SHERER TE =28 FF ==Y




SHESER TE ZEE FIR HER
SHESER TE R EN e
SHEER TE R —& =4
SHESER TE WE =K HER
SHESER TE PR B =4
SHESER TE & EX =4
SHESER TE EES I PN =4

261.0

157.0




F6MESFFROMFELRRIAS REHER

B FEEER O
(=83 3= [r No. g WEFT R K4 L Ras | FifTx
EEERBEHFAR tia WA HoY -z
TtBEERFEEFAR e N By 1%k
tBEERFEEFFR tiza B EE R
1 2 2 tBEERFEEFFR tiza EE RAE 5% 263.5 | 156.0
tBEERFEEFR tiza WT M3 5k
tBEERFEEFFR tiza BO ¥ 5k
tBEERFEEFFR tiza A & 5k
MRLRIHESFPAR Il NH O BHYT R
MRLRIHESFPAR Il MA &R R
MRLRIHESFPAR Il ER ®BX =&
) ) I MRLRIHESFPAR Il Il Rk R 2615 | 1565
MRLRIHESEPR IR WA EHE R
MRLRIHESEPR IR HAR &EX 4Rk
MRLRIHESEPR IR EH urd 4Rk
MRLRIHESEPR IR A0 TR 4Rk
BESEFAR fak HE BR ==
BESEFAR fak JIE NS R
BESEFAR fak A &P -z
3 2 7 BESEFAR fak RE A& R 261.0 | 155.0
BESEFAR & A B -z
BESEFAR & NE BE 4Rk
BESEFAR & WE KRR -z
RERF LRI EFFR PN A BgAE =&
RERF LRI EFFR PN HE KA R
RERF LRI EFFR PN N R
s ) " RERF LRI EFFR PN Eerr TR R 2605 | 1555
RERF LRI EFFR PN E=) I (ks R
RERFILRIEEFFR PN N BRE R
RERFILRIEEFFR PN & LB R
RRAFILRI B EFFR PN BR ooh R
BHEEFEER FE R R 1=
EZUNETN FE W R R
BHEEFEER FE AE TLIYVET R
BHEEFEER FE M FAE -
5 2 4 260.0 1555
BHEEFEER FE ZHE B -
BMHEEFEER TE kA ER I
BMHEEFEER TE meE zn I
BMHEEFEER TE EE . =y =14
NVE S5 N = NE B =154
NVE S5 N = Ad F =154




—En

NVESH T N = Al 22 =4
NVESH T N =)l 1#%
NVESH T N =)l 1#%
NVE S5 N =)l 1#%

=)l 1#%

NVE S5 N




